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Question 1

Question Type: MultipleChoice

Cisco TrustSec technology uses software-defined segmentation to simplify the provisioning of network access, accelerate security
operations, and consistently enforce policy anywhere in the network. Which of the following is not a feature and benefit?

Options:

A- Apply policies across the network
B- Increased risks
C- Lower operational expenses

D- Streamline compliance

Answer:

B

Explanation:

https://www.cisco.com/c/en/us/solutions/collateral/enterprise-networks/trustsec/solution-overview-c22-737173.html


https://www.cisco.com/c/en/us/solutions/collateral/enterprise-networks/trustsec/solution-overview-c22-737173.html

Question 2

Question Type: MultipleChoice

The Cisco Cloudlock protects your cloud users, data and apps. Which of the following is not under the coverage of Cloudlock?

Options:

A- Facebook

B- Salesforce.com
C- Box

D- Slack

Answer:

A

Explanation:

https://www.cisco.com/c/dam/en_us/about/doing_business/legal/docs/cloudlock-offer-description.pdf


https://www.cisco.com/c/dam/en_us/about/doing_business/legal/docs/cloudlock-offer-description.pdf

Question 3

Question Type: MultipleChoice

Which of the following describes the NFV ENCS Virtualized branch?

Options:

A- a cloud-delivered overlay WAN architecture that facilitates digital and cloud transformation for enterprises

B- a hybrid platform that combines the benefits of a traditional router and a traditional server to offer the same functionality with a smaller
infrastructure footprint

C- a security application that mitigates vulnerabilities to offer branch and consumers protection where they need it most

D- a network device that mathematically verifies the entire network for correctness

Answer:

B



Question 4

Question Type: MultipleChoice

Cisco aims to transform IT operations with complete hyperconvergence. Which of the following is not a benefit?

Options:

A- Data acquisition
B- Always on-storage efficiency
C- Predictable performance

D- Independent scaling

Answer:

A

Question 5

Question Type: MultipleChoice




Cisco has long been the world's dominant supplier of computer networking products, systems and services. Which of the following is not
included in Cisco's current product lines?

Options:

A- LAN

B- Routers

C- Application Delivery Controllers
D- Switches

E- WAN

Answer:

Explanation:

https://en.wikipedia.org/wiki/Application_delivery_controller

Question 6



https://en.wikipedia.org/wiki/Application_delivery_controller

Question Type: MultipleChoice

Cisco collaboration edge architecture helps improve the end user experience while offering security, ease of deployment and open-
standards interoperability. Which of the following is not a gateway product?

Options:

A- Cisco Expressway series
B- Cisco Unified Border Element
C- Cisco Unified Communication Manager

D- Cisco TDM Gateways

Answer:

C

Explanation:

https://www.cisco.com/c/en/us/products/unified-communications/communications-gateways/index.html#~stickynav=2


https://www.cisco.com/c/en/us/products/unified-communications/communications-gateways/index.html
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